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3. This test is in two parts. Each part contains

90 questions. All the questions are
compulsory. Each question carries I mark.

4. Every conect answer will be a*arded one mark.
5. The answer sheets for Part-I & Part-tr are

different. Rernember you have to mark your
answers on related answer sheet.

6. Since the time allotted to the two parts of
this Question Paper is limited, you should
rnake the best use of it by not spending too
much time on any one question.

7. Solve the Part-I (Mental Ability) of the

Question Paper by 12.30 p.m. and submit
Answer-sheet of Part-I to the Invigilator.
Part-II (Scholastic Ability) should be
solved in betwe en 12.45 p.m. to 2. I 5 p.m.
and submit Answer sheet Part-II to the
Invigilator.

8. The last page of this Question booklet is
meant for Rough work.

9. Method of marking Answer -
To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

10. Use only Black/Blue Ball-point Pen to
mark the answer.

11. Use of any calculator, Log tables or any
other electronic Gadgets, Mobile phones
is prohibited.

12. Valuation procedure -
Therd are four alternative answers to a
question, only one of them is correct. If
more than one bubble are darkened for a
question, it will be presumed that the
candidate does not know the correct answer,
hence, no mark shall be awarded.

13. Handing over the Answer Sheet to
Invigilator -
Please ensure that all entries in the answer
sheet are filled up properly i.e., Name, Roll
No., Signature, Question Booklet No., etc.

14. Care in Handling the answer sheet -
While using answer sheet adequate care
should be taken not to tear or spoil due to
folds or wrinkles.

15. Please return the Answer-Sheet to the
invigilator after the test.
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Gt.rn *uft ff srqd {wr m fffrq (srr 1 t 2

rfi)
r) 17. t9.22.21. 34.45........

(A) s8 (B) s7
(c) s6 (D) se

{q$ ioftff wrd*man$Rt (re s t sm1

3) 54,165,276,387
(A) 496
(c) sol

@)
(D)

498
509

2) 7,28,49,70,91,112
(A) 13s
(c) 133

4) 127, 128, 136, t63,227
(A) 341
(c) 3sl

(A) 106

(c) 206

O AZ,CX,FU
(A) IR
(c) rv

(B)
(D)

134
130

(B)
(D)

350
352

5) 721.618,515,4t2, 309........

ftqftfu srd iI fu6 rqFr rR sclIn vq ERqr
(rrq6t9116)

(B)

(D)

2t6

t39

EIM
EIO

(B)

@)
JQ
KP

7) BDF, CFL DHr. ...........
(A) cJM (B)

(c) EMr @)

8) abb_baa_a_bab_ab

(A) abba

(C) ccac

abab

aabb

NS-19002
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qFr - J,qHks+|Tdr
PART - I, MENTAL ABILITY

M-l

Find the next numtrer in each of the given
sequence of numbers. (Q.from 1 to 2)

1) 17,19,22,21 ,34,45
(A) 58
(c) s6

(B)
(D)

57
59

134

130

2) 1,28,49,70,9t,tt2.........
(A) 13s (B)

(c) t33 (D)

Find next term of given sequence of numbers.
(Q.from 3 to 5)

4) 127,128,136,163,227 .........
(A) 34t (B) 350
(c) 3s1 (D) 3s2

5) 72t,618,515,412, 309........

(A) 106 (B) 216

(c) 206 (D) 13e

Find the missing term in each of the following
questions. (Q. from 6 to 9).

3) 54, 16s,276,387
(A) 496
(c) s01

o AZ,C){,Ft
(A) IR
(C) Iv

7) BDF, CFI, DHI,
(A) CJM
(C) EMI

8) abb_baa_a_bab_ab

(A) abba

(C) ccac

(B)
(D)

(B)

(D)

498
509

EIM
EJO

abab

aabb

(B)
(D)

JQ
KP

(B)

(D)



ffirfrrr lsl { qq frcc ffid *i Eqg* *c
ur qr{ Gt rrn ffi t t 5{i gqmerro ftn
(?) * rqr< qr ftrRrit (rF 10 t 12 il6)

9) abca-bcaab-ca-bbc-

(A) ccaa

(C) abac

1 2 J

11 7 5

t20 45 ,)

11)

12) B G N

D J R

G N ,)

(A) U
(c) w

(A)

(c)
15

t7
t6
18

@)

@)

(A) 16, 8

(c) 36,4

(B)

(D)

(B)

(D)

bbaa

abba

49,'7

,5 5

cEtgn{ * rgen Gn'A rrql qt cI qt s€ Yrq
q) $ n Erf c6f qrfuIl (lta 13 t 16 t6)

Obscure

Organ

Curse

Cure

(B) V
(D) x

(B)

(D)

Objection

Oath

13) (A)

(c)

t4) (A)

(c)

ls) (A)

(c)
Mango

Mother

Curd

Current

Master

Many

(B)

(D)

I 4 9 'l

I 2 3 4

2 6 1

NS-19002

(B)

(D)

t4l

(B)

(D)

M-r
9) abca-bcaab-ca-bbc-

(A) ccaa

(C) abac

@)
(D)

(B)

@)

bbaa

abba

49,7

25,5

In each of the following questions, a matrix of
certain characteristics is given. These characters
follow a certain trend, row wise, column wise, etc.

Choose the missing (?) character out of the given
alternatives (Q. from 10 to L2)

10) 1 2

11 7

t20 45 ,.!

(B)

@)

16

18

l5
t7

(A)

(c)

(A)

(c)

14\ (A)

(c)

B G N

J R

G N ,|

Curse

Cure

Mango

Mother

Objection

Oadr

16, 8

36,4

L2)

(A) U
(c) w

13) (A) Obscure

(C) Organ

Arrange the given words in alphabetical order
and choose the word which comes first. (Q.from
13 to 16).

(B) V
(D) x

(B)

@)

(B)

@)

Curd

Current

1s) (A)

(c)
Master

Many

1 4 9
,|

I 2 3 4

2 4 6 ,?

10)

4

11)

J

5

D



16) (A) Elope

(C) Effect

(B)

(D)

Envelope

Entke

frn'rf cr{ iI k4 (::) + rtfr *r ftrd Sm
rql/sid il q{{cr (etrr t qt( tm 0 vr* nq
(::) t frfi *( ftrd #/rrd it lt frn rn
frcd iI t ftqu qc (?) 6l B16r ft{fuAl
(F 17 t 20 16)

17\ 3rtl:rE-fI::3{til
(A) w
(c) w

18) qS:qrq: : tIsIQ: ?

(A) Fi
(C) E-6{uI

(B) iHI

(D) y

(B) 5c
(D) drc

2t) (A)

(c)
d
ilrt

@)ft
@) 3cnE

19) wqu :14 : : agff : ?

(A) ctdl

(C) efrrd

20) 48'.122::768:2
(A) 2e0

(c) zts

22) (A) gFr$

(C) ft-dq{

23) (A) 
"rn(C) Ha

(B) {di
(D) qS

@)
(D)

(B)

(D)

292

225

3I.rFt

3r€F{

@) rfl
(D) sfo

NS-19002 tsI

(B)

(D)

P.T.O.

16) (A) Elope

(C) Effect

M-1
Envelope

Entire

(B)

(D)

There is some relationship between the words/
numbers on the Ieft hand side ofthe sign(: :) and
the similar relationship exists between the two
terms on the right hand side of the sigr (::).
Find missing term from the given alternatives.
(Q.from 17 to20).

17) Mango : Fruit :: Potato : ?

(A) Root (B)

(C) Fruir (D)

Stem

Flower

18) Clock : Time :: Thermometer: ?

(A) BErS, @) Heat

(C) Radiation (D) Ternperanue

19) Plant : Tree :: Girl : ?

(A) Mother

(C) Woman

n) 48:122::168:?
(A) 2eo

(c) 215

2l) (A) Sun

(C) Stars

Choose the word which is least like (different)
from other words from the following group of
words. (Q.from 21 to 24).

22) (A)

(c)
July

September

Sister

Wife

292

225

Planets

Satellites

August

October

Heart

Eye

(B)

(D)

@)

(D)

@)
(D)

(B)

(D)

REfrfoil rrqT * qt il i w rrq ur vr{ d il
trd rrql i sscr{ tt tvn 2L * 24 a{,

23) (A) Nose

(C) Ear



A) (A) gElFt

(C) 'kI

(B)

(D)

fodR

s-f,( ctvr

2s) qiieARrftqf *it,r$tt fi +s-{lfi tA
qlasr ei6E{isq{i.nz

(A) 6

(c) 2

(B) s

(D) I

ffirfon qmd ci tcrd i cfra *{ frn Tn
wil t wr fri1 1ys 26 t 30 il6)

1. AaerBB4sfr{3i}Sq-.dratr

2. CaerB3itQft Xilaqqrttt
3. DaqtAr0rdsftFqqqdtt

4. Snqr sEft-6re s{t{dqau-efi tt

26) Ya qqr*l ittstiq-{i srE6ftwq66117

(A) A (B) B

(c) c (D) D

2D ffituafr td"-fr eiqR-sff fi Ecc[+d
aqt4q.attt
(A) AaerB (B) Bnerc

(C) C ilerD (D) FEtqt$T€f

28) da-mfuqii erfuo e{Erc-{T.6dti

(A) fi6rs C) Gd
(C) {W 1p) 'tFR

t6I

M-l-

25) The two positions of a dice are shown below.
When 4 is at the bottom, what number will be
on the top?

u) (A)

(c)

Bhubaneswar

Goa

(B)

(D)

(B) s

(D) 1

Bihar

Uttar Pradesh

(A) 6

(c) 2

Read the following information carefully and
answer the questions. (Q,from 26 to 30).

1. A and B teach Hindi and English.

2. C and B teach English and Geography.

3. D and A teach Mathematics and Hindi.

4. E and B teach History and Sanskrit.

26) Out of these teachers who teaches maximum
number of subjects?
(A) A (B) B
(c) g (D) D

n) Out of the following, which pair of teachers
teach both Geography and Hindi?

(A) AandB (B) B andC

(C) C and D (D) None of these

23) Which subject is taught by more than two
teachers?

(A) History (B) rftdi
(C) Sanslait (D) lvlathematics

NS-19002



29) ti*htBcct, d o, s nqr affi qitl
(A) kd&s
(s) Q{nqr&ft
(C) kdrB{
(D) kqa{ffira

30) ffifud{ida-sl .{qro-siimffcqq..r*
tl
(A) A (B) B

(c) c (D) F{{t+$rfi

31) ffie+a -20te{Ac*dffi Errqlrq
lq(frfi efr€a 2l taenflq eraffignr
q{srtqra1 61 3fre-d 36 t d Sq cfq ffi ERr
q{qrISTil6Isfrg6A.IL

(A) 30 (B) 28.s

(c) 22.s (D) rt.4

32) ltr aft tu€ A + B ils 16 fi-ar !ft +6o-s 6
rwntqarOtt ed-gtr*n rrrl t qrt ii sra
tqr cr{ t qA ff erten to +mus srfun E.ri tt
a{qqqrqtqr:

35 fi-a

149{-a

B
(A)

(c)

33) frmFftsMftfr ff cer{ gm{aerwsrdaitt
*iisr*,rr'cfifl,
(A) 33 (B) 34

(c) 3s @) 36

34) <dor{ ts}qr goqS a.:O m qm Wl-fr tt s0
uret:
(A) 2.30 (B) 3.30

(c) 5.30 (D) 8.30

NS-19002 ltl
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29) Which are the subjecrs taught by all three D,

B and A?

(A) Only English

(B) Hindi and English

(C) Only Hindi
(D) Hindi and Mathematics

30) Out of the following, whichteacherteaches less

than two subjects?

(A) A (B) B
(C) C (D) None of these

31) In a T-20 Cricket match, the average of the
runs scored by two players is 21 and the
average of the runs scored by other 3 players
is 36. The average of the nrns scored by these
five players will be :

(A) 30 (B) 28.s

(c) 22.s (D) ll.4

32) A man walking at 16 metres per second from
point A to B, takes l0 seconds longer on the
semi-circular path than the straight line. The
diameter is about :

B
(A)
(c)

35 metres

140 metres

(B)

(D)
70 metres

280 metres

33) In aclass of46 students Kuldeep's number
is 12. Her number from the bottom will be :
(A) 33 (B) 34
(c) 3s (D) 36

34) When seen through a mirror, the clock shows
8.30. The exact time is :

(A) 2.30 (B) 3.30
(c) s.30 (D) 8.30

(B) 70+.{
(D) 236 fi-a

P.T.O.



35) qR coBRArrq*rikrel{ a152181 A,Ayrq
ZEBRAH{*ft6Bqrilqqlr
(A) 26s2r8t (B) 26s28rt
(c) 2652tt8 (D) 265tr82

36) q8 PINKYTq*{KIqT{ RGPIA, AWq BLUE
i*{tR-oQ;qq&nt
(A) DJCW (B) DWJC

(c) DJwc (D) DCrw

37) srRd iqd+m q.6il t, +ed +dI q-dn t, fr
d qror q-ti t, qrd * am q'ti t ara ql qEfl
c'ti t, n r5e * rt qr i.r wr t i
(A) Hrd 6a; qlgff

(C) +dr (D) ERI

38) ffi d*aqmil " Good Sweet Apple" *ftq
{Aia 851, "Good Red Rose" * ftq 783 aqt

"Rose and Apple' *ftR{k 34 1 tl "Sweet"

wq*ftqd*'tfri,
(A) 8 (B) I
(c) 3 (D) 5

39) ffi EzqNr{ RoBEd 5136 frerqrmt sfu

BIND d 3792 ftqlqrm t, i nroeat ftor
qlm:

(A)

(c)

(B)

(D)

40) qR 18x 16=32aqr42x37 =32,d53x13
qrrqrt 

'
(A) 24 @) 34

(c) 36 (D) 43

a1) *i SqrIqqR lM {t ffi frq{qcri-dttt
erqtQtu*dsl ffiq,
(A) Yx (B) zu

(c) ur (D) PQ

5276

5726

5376

5326

NS-19002 t8l
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35) If the word COBRA is coded as 3152181,

how can the word ZBRA be coded?

(A) 2652181 (B) 265281r
(c) 26s2118 (D) 26stt82

37) lf green colour is called)pllew, yellow is called

blue, blue is called black, black is called red,

teg! is called purple, then what is the colour
of human blood?
(A) Red (B) Purple
(C) Blue (D) Green

38) [n a certain code language 851 is a code fo!
"Good Sweet Apple", 783 for "Good Red
Rose" and 341 for "Rose and Apple". Find
the code number for "Sweet":

(A) 8 (B) 1

(c) 3 (D) s

39) In a certain code ROBE is written as 5 I 36 and

BIND is written as 3792. How is RIDE
written in that code?

(A) s276 (B) s376

(c) s726 (D) s326

40) If 18 x 16 = 32 and 42 x 31 = 32, then
53 x 13 is equal to :

(A) 24 (B) 34

(c) 36 (D) 43

41^) Out of the four altematives given below, three

altematives have similarity. Select which is
different ftom the rest?

(A) Yx (B) KJ

(c) ur (D) PQ

36) If the word PINK is coded as RGPI, how
can the word BLUE be coded?

(A) DJCW (B) DWJC
(c) DJWC (D) DCJW



Rt 'd cd if, lF wq clc-qr t i 8q qq rrq
t TfiT{ rc-tr tr (xrf 43 i 44)

43) CHOREOGRAEry

(A) oGRE

(B) PHOTOGRAPHY

(C) GRAPH

(D) GEOGRAPTry

aO fi-ifo qtur{fuu}ff gn{erf 
'

u) uNcoNscrous
(A) SON

(c) srJN

(A) s

(c) l0

(B) 8

(D) t2

a6) +iQqqqfraiia'fi &yriwrf ,

(A)

(c)

t4

10

NS-19002

(B)

(D)

18

12

tel

(A)
(c)

t4
10

(B)

@)

18

t2
P.T.O.
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42) Which of the following word cannot be

formed with the letters in
DISSEMINATION?
(A) ACTION (B) INDIA
(C) MENTION (D) NATIONS

In each of the following questions, find a word
which cannot be made from the Ietters of the
given word. (Q.from 43 to 44).

43) CHOREOGRAPHY

(A) OGRE

(B) PHOTOGRAPHY

(c) GRAPH

(D) GEOGRAPHY

44) UNCONSCTOUS

(A) soN

(C) SUN

(A) s

(c) 10

(B)

(D)

COIN

NOSE

45) The total number of triangles in the given
below figure are :

(B) 8

(D) t2

46) The total number of squares in the given
below figure are :

IIIIII

42) DISSEMINATIONTTq * ewd { t qt{ sr
vr<rfiq<rqrqru-qartt

(A) ACTION (B) INDIA

(c) MENTTON (D) NATTONS

(B) COrN

(D) NOSE

[T-t-
+]-_]



zfr€ ffi{a

Eid-cra

47) 6t{-ur srerrraqful*s6qrcftAfu€c,rtr
t,AsSft{&affiti
(A) b (B) c

(c) f (D) c

48) +{-vr s{eng{qffi +RE qlqRff&dq,ctt

t, + 2fts efr{ qi*{'a ffi t ft-{ ffi€i q-fi

ffitt
(A)c G)e
(C) c (D) b

50) qt{-qr sreT{:aaftrd*<qurvftff&ae;rat
t, in ?frs sft +cR-€i tffi { vrg ei-e*m rff
&ott:
(A) b (B) c

(c) d (D) f

+n Rn rn rrfr it t Es *S ot qrqfrt i q;q

frfrdttutt FFF.s1*scrc):

s1) (A)

(B)

(c)
(D)

*<r-c-+w
ersq{-ffi{
eieq-ffRq-d
A6-t}s{

NS-19002 lrol
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Q.No. 47 to 50 are based on the following
diagram. Answer the questions given below :

Tennis Badrrrinton

Volleyball

O) Which letterrepresents the set of persons who
play all the three games?

(A) b (B) c

(C) f (D) c

48) Which letter represents the set of persons who
play Tennis and Volleyball but not Badminton?

(A) c (B) e

(c) c (D) b

49) Which letterrepresents the set of persons who
play Tennis but neither Badminton nor
Volleyball?
(A) a (B) b
(C) c (D) d

50) Which letter represents the set of penons who
play Teruris and Badminton but not Volleyball?

(A) b (B) c

(c) d (D) f

In each of the questions given below, find out
the pair that is different from the other three.
(from Q.No. 51 to 54) :

s1) (A)

(B)

(c)
(D)

Army - General

Post office - Postman

College - Principal

Bank - Manager

s*r E. 47 i so nc ftEftfon fti w qqfu tt
+nGn.dcd*Bt{{Rc:

49) *r-sr s{qT{waGn'el*<ge,icfthfoa6rdr
t, n 2fts ffi t tu{ ffid{ 3fr{ si+sla rfr
ffitr
(A) a (B) b
(c) c (D) d



s2) (A)

(c)

3{i6IYI - Cs

16 - ars

q$i - q-6rq

q-d -?a

(B)

(D)

s3) (A)

(B)

(c)

(D)

s4) (A)

(B)

(c)

(D)

YrJ - flz

ro-an-3ni

qr$-<rsq

nfrqt-ri{d

qff-s}trfiI

*r-gsl

6.u1-sfum

*g-3T6{d

55) +AGi'T}vr<Iq} qdT,t M{a-cRrdffFTA'

a)+qb)tr
c) E-€ d) *i

e) Atrr

(A) (b), (a), (d), (c), (e)

(B) (b), (c), (d), (a), (e)

(c) (a), (c), (b), (d), (e)

(D) (a), (b), (c), (d), (e)

(A) ll00

(c) 700

(B) 900

(D) 500

NS-19002 [11]

(c) 700

P.T.O.

s2) (A)

(c)

Sky - Bkd

River - Boat

M-1
Ocean - Ship

Rails - Trains

(B)

(D)

s3) (A)

(B)

(c)

(D)

s4) (A)

(B)

(c)

(D)

Shirt - Pant

Salwar - Kurta

Saree - Blouse

Pillow - Blanket

Bird - Nest

Lion - Den

Deer - Forest

Horse - Stable

55) Arrange the words given below in a

meaningful sequence :

a) Table b) Tree

c) Wood d) Seed

e) Plant

(A) (b), (a), (d), (c), (e)

(B) (b), (c), (d), (a), (e)

(c) (a), (c), (b), (d), (e)

(D) (a), (b), (c), (d), (e)

56) The ratio of the girls and boys in a school is
3 : 7. The number of boys is more by 400
than that of the girls. The number ofboys in
the school is :

(A), 1100 (B) 900

(D) s00

56) q6 ftatirc l atfu*roti 3t{ Elil*t 6t srJcrd 3:7

t r 

",ild 
e {qI .,fund t 4oo qfu6t I R*dq

{Erd6tff{@It:



Rq qq ftl iI, q-t g{uff cr yftRfta qrtr t,
frjv aQrfkr uqfrql ct ilfm t orlr qrrt
q,rffir{ qffid d qltdr tt frn.rn crfr } vtr{

ffii1 1es F. s7 * 60 ro) :

57) at+ur Qagsr 3{ftQn dtqrrq$qFmlot
ffiffft-awartr
(A) 6 (B) 5

(c) 4 (D) 3

5s) dqqr tdftfud, qrrcrfr atrr g{q}dwtm?t

(^) 2 (B) 3

(c) 4 (D) s

s9) *urhftfrdgatefufumaHavRHfta
qrar?t

(A) 7 (B) 4

(c) r (D) 5

0o) *asl eegsr, qFfud3ft{etqqRqFmlsilsvrtdl

ti
(A) 1 (B) 2

(c) 6 (D) 3

NS-19002 lrzl

M-l :
In the given figure, the circle represents young
persons, the triangle represents uneducated
persons and the rectangle represents employed
persons. Answer the following questions. (Q.No.

from 57 to 60) :

57) Which region represents young, uneducated
and employed persons?

(A) 6 (B) s

(c) 4 (D) 3

58) Which region represents educated, employed
and young persons?

(A) 2 (B) 3

(c) 4 (D) s

59) Which region represents young, educated and

unemployed persons?

(A)7 @)4
(c) 1 (o) s

60) Which region represents young, uneducated
and unemployed penons?

(A) l (B) 2

(c) 6 (D) 3

I 3

2

7

I
aJ

2 4

7

4



:

fu rq H u,t {dq rrd * rq{ * tt frn .rn

ddr * rgwn vfi ftc.e gEqt (rrr 61 I 64
il{r) :

(A) (B) (c) (D)

61) +q,gffi,ffiq{

62) ffi,wn,qrq*

63) Qwo,sm*,ffi

64) qr6,+fl,qq

ffiftm nd tt CE rq (?) 6t Frd qir (!$T 6s

t69ro):

6s)

(A)

(c)

53

51

(B)

@)

49

55

66) l3 t2

t8 12 lt l5 t'7

4t

t6

(A)

(c) 45

NS-19002

(B)

@) 41

tlsl

(B)

(D)

P,T.O.

M_1
The diagrams showing the relationship among
the words in the question. Choose the correct
option as per the given relationship. (Q.from 61
to 64) l

(A) (B) (c) (D)

61) Table, Chair, Fumiture

62) Window, Room, Man

63) Teacher, Graduate, Player

64') Yak, Zebra, Bear.

Find the missing number (?) in each of the
following questions. (Q.from 65 to 69) :

6s)

(A)

(c)

(A)

(c)

53

51

(B)

(D)

49

55

l4

12 It

t2

l6l8 l5 t7

4l

47

37

45

t4

oo ooo
(l

66)

oo



67)

18

8

(A) 36

(c) 40

68)

(A) s2

(c) 37

69)

84

t4 12

(A) t6

(c) 61

(A) a-ta

(c) r<

t6

3 59 4

8

70) frfl, ufta 6 
"a*, sEq efr{ Src qr€ t arn

*rq, qrar qT *a ?t qror, frcr ff ffi i €l
drrfrt?

8l

t8 9

@) 38

@) 42

(B) 36

(D) 81

(B) 21

(D) 81

G)*a
(D) clal

88

? 11

t2

-)
,,

3

6

NS-19002 lrll

14

E
E
E

67)

68)

69)

(A) 36

(c) 40

(A) s2

(c) 37

84

14 t2

(A) 16

(c) 6r

(A)

(c)

(B) 38

@) 42

(B) 36

(D) 81

M-F

88

? ll
8l

18 9

70) Seema is Sachin's sister. Sachin and Saurav

are brothers and Saurav is Kamla's son. What
is the relation of Kamla with Seema?

(B) 2t

(D) 81

Sister (B) Daughter

Sister-in-law @) Mother

I6

3 59 4

8

t-I,lI



FEEHT q\ ltH * rmr il : (p 71 * z2 m) :

7r)

a

72)

7s)

(A) (B) (c) (D)

(A) (B) (c) (D)

(A) (B) (c) (D)

73) fu rrnM{t sri.nqEalmffFrir
(A) 343 (B) 28e

(c) 441 (D) 62s

Gn.A qrr ffi iI t fu 11) Er v0 sftr ffiA<
gFir : (gF 74 t 76 ffi) :

74)

(x)

(x)

(A) (B) (c) (D)

II

NS-19002 trsl P.T.O.

M-1
Choose the figure which is different from the
others : (Q.from 71to72) :

7t)

72)

7s)

(A) (B) (c) (D)

(A) (B) (c) (D)

Choose the correct mirror-image of the figure
(X) from the four alternatives given. (e.fiom

73) Find the odd one out from the altematives.

(A) 343 (B) 289

(c) 44t (D) 62s

74 to76) :

74)

(x)

(x)

(A) (B) (c) (D)

Ir

(A) (B) (c) (D)



76\

79)

(x)

(A) (B) (c) (D)

71) A, c qT ftmt ftq-m ga D tl E, Fff crdlt
ftrr*l qr$ D tl o .1L g, 61 swa ant?

(A) ftal

G) Eq

(C) ,{r$

@) q'al

ftEftfua f,r c6 st[ I d* qc qqn rq qiltdl

t, qimr (?) qi fit 'rt lH iI I vn 6Grit
(s7St80m):

78)

(A)

(c)

(A)

(c)

65

67

(B)

@)

66

68

t] 31
,|

18 22

58

4'7

'74

82

NS-19002

(B)

@)

lrol

58

47

(B)

(D)

M-F
76)

79)

(x)

(A) (B) (c) (D)

77) A is father of C whose son is D. E is mother

of F whose brother is D. What is the relation

of A and E?

(A) Father

(B) Father-in-law

(C) Brother

@) Brother-in-law

The character in each set follows a similar
pattern, find the missing character in each case'

(Q.from 78 to 80) :

78)

(A) 6s

(c) 67

t7 31

18 22 72

(B)

(D)

66

68

(A)

(c)

74

82

'72

)

?



,i
80)

(A) K

(C) M

81)

82)

83)

84)

(B) L
(D) N

ftf 'd Prrd iI *, qq Er F{e Ftn t st m
*lGrir (IrF 81 * 84 rq) :

l\t\A

(A) (B) (c) (D)

(A) (B) (c) (D)

(A) (B) (c) (D)

(A) (B) (c) (D)
D H L

NS-19002 tr zl P.T.O.

From the given figurcs, one figure is different
from the other, choose it (e.from 81 to g4) :

80)

81)

82)

83)

8,1)

(A) K

(C) M
(B) L
(D) N

M-1

(D)

tvv

(A) (B) (c) (D)

(A) (B) (c) (D)

(A) (B) (c) (D)

(A) (B) (c)
D H L

\tw



A V )

SiRfoT:

(A)

(A) (B) (c) (D)

frtr : cFt s. 86 e 90 iI {ril Xre fr rra gc
(qm fu{ Gqr rrqr t, * fr oW tt +i Gq qq

qR {qr* vril i t r0 s<r SRa' d Ffi GYr

rceGlilFfitatrtuwfdqqt

86) z.N
N ,)

N"

N
(c) (D)

87)

(A) (B) (c) (D)

NS-l9002

,)

2

M-r
85) Choose the correct altemative :

Problem figure :

A

Answer figure :

86)

(A) (B) (c) (D)

Directions : In question 86 to 90 there is a
problem figure on left hand side, which is
incomplete. From the four options given below,
choose the correct one that can fit into ( ? ),
without changing the direction.

,.%N
N )

N"
(A)

(c)

(B)

(D)

87)

(A) (B) (c) (D)

V ,|

,%

%
)

,\\

S, s&Gr+ngftA:

c{t{fur:

(B)

t18I



t
88)

(A)

)
oo

(B) (c) (D)

8e)

90)

(A) (B) (c) (D)

o ?

o
o

o
o

oo o

(A) (B) (c) (D)

)

) o
o

NS-19002 tleI P.T.O.

M-1
88)

8e)

90)

(A)

(A)

(A) (B) (c) (D)

(B) (c) (D)

o
o

o
o ?

o f
o

o
o

)

oo
oo

I
(B) (c) (D)

,)

, 7

) o
o

o

o

\ \



1) iffiRem4qq*cIEBqIqIF6-drt, q-eafi t :

(A) s{qr$eftRq

(B) sr<k€efrEq
(C) gavftRq
(o) qUATRRE

2) qh{qftda€-6.ftt

(A) **aargurffii
6e; *a-affin
(C) +d-f,rd]d

(D) ffi,fqlaenffit

3) sffs{qe)ft*q(qt
(A) 3{EmA-drt

(B) a{rE{tdrt

(c) qqtot
(D) sqi-m{f*t$T8

4) qiaR-sfftqad-drt

(A) rr*vtti
' (B) cr{*Yrt{i

(C) rr*vft*era
(D) qrqr*Yrft*qrdr

5) te<ragm-*'t
(A) u$u-geilarfrqr€Tqrqrmt

(B) sift qEfr 6Itlqrdrcrqrmt

(C) (S{*-arcdvfteanfimr€rcrqrmt

(D) e$ildI6Ifilqr€rurqrcrt

NS-19002 lzol

r{FI - Iriks+Tdr
PART - II, SCHOLASTIC APTITUDE TEST

frdrq
SCIENCE

M-1

1) An image which can be formed on a screen

is called:

(A) Virtual image

(B) Real image

(C) True image

(D) False image

2) Sound may be transmitted through

(A) Only in air or gases

(B) Only in solid

(C) Only in liquid

(D) Solids,liquids and gases

3) Sliding friction from static friction is tobe

(A) more

(B) equal

(C) less

(D) None of above

4) Intemalfertilizationtake-place

(A) In the body of male

(B) In the body of female

(C) Out side the body of male

(D) Out side the bodY of female

5) In "Red-data-book"

(A) Record of all animals are kePt

(B) Record of all plants are kept

(C) Record of all endangered species arc

kept

@) Record of all elements are kept



,

A ca*ftqqrg{s{r<s{dt
(A) s{r$q{
(B) qq.avr

(C) qdfla

(D) 6rd?sr$s{rfiEs

7) ffied{+ft(d*e*lqa-dqrEfr dE-{fl qr
s-mtti
(A) srp6}{s

(B) fi-d
(C) scol
(D) 3{rffiqi

8) $crr-4rot-
(A) crftr{ff
(B) d
(C) qlFr;n

(D) {gr

9) ffifrn{id"qrqrr+waff eff * ftq
wrqrfirfrti
(A) q-a*ersilcrgieaiEa

(B) 3r-dfu6sct

(C) E{frq-{ri@r

(D) offit+lur{1ft

10) <hffi qmfi qraqlcfttrqM+ftqscftT
ftcrqrdrt-

(A) sr-{ildq{ur

19; 3-irdq{ur

(C) qc-ird qdur

(D) srnd-6+q

NS-19002 Iztl

M-1
O For Combustion air required

(A) Oxygen
(B) Nitrogen
(C) Chlorine

@) Carbon-dioxide

7) In the following which can be beaten in to thin
sheet?

(A) Phosphorus

@) Zktc

(C) Sulphur

(D) Oxygen

8) Ureafertilizeris:

(A) nitrogenous

(B) phosphoric

(C) porassium based

(D) mixed

10) Mirrors are used by dentists to see an enlarged
image of the teeth is -

(A) Concave mirrors

@) Convex mirrors

(C) Plane mirror

(D) Magnifying gtass

P.T.O.

9) Which one of the following is not responsible
for water shortage?

(A) Mismanagement of water resources

(B) Heavy rainfall

(C) Increasingpopulation

(D) Rapid growth of Industries



11) eids< errauru-oadram{ql ql

(A) e{2008{

1e) q{2011{

(c) q{2010{

(D) q{ 2003 ii

12) fi-or dqrqr{rqrqfi-d*It
(A) CuSOo

(B) MgSOo

(C) FeSo,
(D) AgSOo

13) qc{+dsqrd{qtffi
(A) *atQet
(B) qffi&qt

, (C) 5c$-eur
(D) q{4fr6l

1a) ard6r{tsq+ilf'
(A) 6rda, Erfiq? Fi 3{t-Sq"t

@) Er5gtwl, {r{A-*rqi olr*q"t
(C) s{rffiq", *'daqiqr$qct
(D) rr{i-n, Erfg)-wlViuo'ti

15) Fq{tda sr ko-a gslcfuiiftq tdqlrrd*s
qoiqq.rtl?i
(A) d*tgllq
(B) s{ sfr{ 3{ri

(q r{3fugq
@) ft'emqqn,orflPr*ssi

16) EqIitag6Enqr er3ara er&6tdrt
ial 1qaeS{{
(B) o-s$yE,{
(c) gra6l{
P; sun-ae${

NS-19002 lzzl

M-1-
11) The International Year of freshwater was

observed in -

(A) 2008

(B) 2011

(c) 2010

(D) 2003

12) The chemical for,mula of Blue Vitriol is

(A) CuSO,

(B) MgSo,
(C) FeSO,

(D) AgSOo

13) Cuscuta is an examPle of

(A) autotroPh

(B) parasite

(C) saProtroPh

(D) host

1, Which option best describes a tropical region?

(A) hotardhumid
(B) cold and humid

(C) hot anddry
(D) low temperature andheavy rainfall

16) Soil contains geater proportion ofbig particles

to be
(A) ClayeY soil
(B) SandY soil
(C) Loamysoil
(D) All of them

14) CarbohYdrates are made of
(A) Carbon, HYdrogen and OxYgen

(B) Hydrogen, Nitrogen and OxYgen

(C) Oxygen, Carbon and Nitrogen

@) Nitrogen, HYdrogen and SulPhur



17) ffitun{t.'t{$d6qs*t?

(A) qIFI

(B) qEI =

{TET{I

^
R|r

(ff
TTITq

(C) qIFI = (0 X Tttr'I

@)
TIFI

efr x sqq

18) qrqqerq-+r cr.rd-dr?

(A) q$/qd

(B) irill

(C) qE/{d{

(D) w

19) wa sft Qs6a-€I+cfrdrd?+ftqcrqdiin+dr6
s:r6Erdrt,3ts6irt
(A) qrfdc

(B) Flcc
(C) +F*cc

(D) trrorqcl

20) rmvfuiururff+qffeft-
(A) qft{Eicat
(B) uiraererlr&eai
(C) eftqcEr{t
@) srd*Au-<dlfut

Zrl eiarm+d6-dit
(A) q*-{aqrk

ie; umad
(C) <qeqr{a

(D) svi-mqts+$T€t

NS-19002

1

M-1
l7) Which of the following relations is correct?

(A) SPeed
Time

Distance

(B) SPeed
Distance

(C) Speed

Time

Distance x Time

1

(D) SPeed
Distance x Time

18) The reproductive part ofa plant is the

(A) leaf

(B) stem

(C) root

@) flower

n\ "Blood circulation" was discovered by :

(A) John Dalton

(B) Thomas Alva Edison

(C) William Harvey

(D) Alexander Fleming

2l) The eye of the storm is

(A) Centre of a cyclone

(B) Heavy rain

(C) Heavy clouds

@) None of these

lzs) P.T.O.

19) In plants water and minerals is transported
through vascular tissue is called

(A) Xylan

(B) Ptrloem

(C) Cambium

@) Parenchyma



22) qA+d+tsqtscA.I{drclqrdlt -
(A) NaCl
(B) NaHCO,
(C) NarCO,
(D) MgSOo

23) drffitMdftqqrot-
(A) qa-+

(B) 6EgI
(C) slta
(D) qrR

24) ftq{tmq-+clgTfrt0r
(A) sm
(B) *z
(C) {d
(D) sl<ra.latdlSinr

25) fttwdrfittmt'
(A) 3{qIFI

(B) eFw{I

(C) fi-{rF
(D) gi'a

20 qdctfr A€Ed t srffisil arrrEl 3rrrqq)rel6
qrt*r*qdq'ttt
(A) AfikI
(B) ffqtm
(C) twq{{
(D) qrutflEl

27) qnrr*oioreft6rrqr (gq*t emiil{qqfarm? :

(A) fft-q{
(B) IRFtut

(q reuta

@) gna

2g ffifuadtda-rra-revfi r{it7
(A) a-rlqrai qq.fi tqqritt
(B) aatvrry sft sgqmqiq{ffft T€tAet

(C) e.qqilsrg sfr{qa-q**isctftdqdtt

@) gqr, saI&EB sft grdaq{Fdq-{ tfr tt

NS-19002 124l

M-1
22) Salt used as baking powder is :

(A) NaCl
(B) NaHCO,
(C) NarCO,
(D) MgSOo

23) The substance is extacted from lichens
(A) Indicator
(B) Salt
(C) Acid
(D) Base

U) Which of the following does not yieldwool?
(A) Yak
(B) C-amel

(C) Goat
(D) Woollydog

25) Bile Juice is stored in :

(A) Pancreas
(B) Stomach
(C) Gali bladder
(D) Small intestine

26) The process that is used to separate grain from
stalks is called
(A) rhe*ing
(B) Winnowing
(C) Han@icking
(D) Vaporization

n) The transfer of pollen from the anther to the

stigma of a flower is called
(A) Fertilisatiott
(B) Pollination
(C) Dispenal
(D) Budding

28) Which of the following statements is notcon€ct
(A) Forcsts protect the soil from erosion
(B) Plants and Animals in a forest are not

dependent on one another
(C) Forest influence the climate and water

cYcle

(D) Soil helps forcsts to grow and regenerate



t
29) ifi-ttarroftrtatffqfidt

(A) ftxftaA
(B) ffiiB
(c) ffi?C
(D) ffiD

30) ggron8vs i"{{Svg \s+dMtff tl
rdq-6tf -
(A) RrdrqE
(B) lr€rncr
(c) qv{w
(D) 3ctniti+$T$

31) ,r{aaufud*6Ed{Et
(A) Eqih
(B) q-d-Effir{e
(c) gu{&
1O; er+adh

32) uafmnereff'*vHat-
(A) EnqElctqr
@1 g<fttE{rn-6a-{
(C) qqsrft-tr*.{vrJq{Hr

@) ftarn
33) <ogofrqrt,

(e) qdmur
(B) qqirfi
(C) ffiqa
(D) d+qa

34) r"B-*s+ $ sqq q€ftqi
(A) qrd{ff3il{rrft6rfftl

fe) +iffsfr{rRq-{fftr
(C) sc{ffofr{rrRq.l tl
foi tuc$drhTflu{fttr

35) tfrtwff65q.vqimsscq,fdrdrf -
(a) Hn$fura
(B) Tflyl{[ecur
1q ar*ru
(o) &fficor

NS-19002 126l

M_1
29) Disease known as Beri-Beri caused by

deficiency
(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
@) Vitamin D

30) All the roots seem similar in this Root System.
These are called :

(A) Tap root
(B) Fibrous roots
(C) Lateral roors

@) None of these

31) The joint wherc our neckjoins the head is
(A) Hinge joints
(B) Ball and socketjoints
(C) Pivotal joints

@) Fixed joints

32) This is a chemical change -
(A) Folding ofpaper
(B) Deflation of air from balloon
(C) Stitching of shirt from cloth
@) Rusting

33) Combustion is a process
(A) Oxidation
(B) Reduction
(C) Decomposition

@) Combination

34) During exhalation, the ribs
(A) move outwards
(B) move downwards
(C) move upwards

@) do not move at all

35) The process of depositing a layer of zinc on
iron is called -
(A) galvanisation
(B) photosynthesis
(C) vaporization

@) crystalization

P.T.O.



36) erffi{&rrqqrfr?ff:

(A) Gd
(B) amkr
(C) frtkr
(D) srFTrr

37) trdrflft-+qm rar&on' * siilta s-&6qwt
qrqtdrt:

(A) +{+cr{i
(B) qaqtc

(q 6$+c

io; sat-metft

3s) e-+{s{ t{sqqterqR{s' 6dF{rqlqrdlti

(A) 2s R{q{

(B) 23w

(C) 26si-cff

(D) sw

39) gqrni*rnqiQrqrffi errscqftcll

(A) 31s.{{

(B) 56nqlilt
(C) rt*irqfr
P) saft+$r$

40) +dFrsniftqlgdtt, +tqaqmt :

(A) Erqidtd$R

(B) sltnq+€

(c) *
(D) sr{{6rtn
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36) Akbar's capital was at:

(A) Delhi

(B) RedFort

(C) SidFort

(D) Agra.

37) According to 'Universal Adult Franchise' every

adult has:

(A) No vote

(B) One vote

(C) Multiple votes

(D) All of these

3S) When is the 'World Environment Day'
celebrated every Year?

(A) 25e December

(B) 23'd June

(C) 26s January

(D) 5t June

39) Who invaded the Somnath temple in Gujarat?

(A) Akbar

(B) MuhammadGhori

(C) MahmudGhaani

(D) None of them

40) Rocks which contain fossils are called:

(A) Metamorphic rocks

(B) Igneous rocks

(C) Core

(D) Sedimentary rocks



t
41) ffi-ovrrraan*ftqc1eq'qcrar roartr

(A) dREi (B) qqFt

(c) tn (D) El${fi

42) deu-r<rhcrgerq{sm qr :

(A) ws
(B) s
(C) IFrr
(D) dldn

a3) aqqEq-sfudqidtatl
(A) riflr
(B) qgtn-a

(C) sc-ilc{sd

6ti aftl<a

44) qrr&qriGqneqcr aaqrdia urt
(e) =i.n*<rc
(B) q-qramts
(C) En Erdr<rta siaEm{

iO; r6arfi4

45) crqd6rq6f,rif{ft w+raqih qp

(A) Fr€sna-fr

(B) Ei€qriz+.{

(C) Rf€EfrcciE*
(D) qt{tRis

46) ffi ga'ci* dartrvvnrr& qmmr 4?
(A) 3t
(B) Er{fi

(C) Q4
(D) nii+

NS-19002 1271
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4l) Who can take steps, to bring gender equality?

(A) Constitution (B) Society

(C) Both (D) None

42) The main occupation of Gond tribes was:

(A) Trade

(B) Agricultue

(C) Goldsmith

(D) Blacksmith

43) Where is the air pressure highest?

(A) Moon

(B) Sealevel

(C) Stratospherc

(D) Exosphere

4) Who was the President of the Constituent
Assembly of India?

(A) Dr. Rajendra Prasad

(B) Jawaharlal Nehru

(C) Dr. Babasahib Ambedkar

(D) MaharnaGandhi

45) Who was the first Govemor-General of India?

(A) Lord Dalhousie

(B) I-ordMountbatten

(C) LordWilliamBentirrck

(D) WanenHastings

P.T.O.
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4A What was tlre language of administation under
the Delhi Sultans?

(A) Udr
(B) Persian

(c) rtudi

(D) Eglistr



4D frittcksr r*ffiqdcnntt
(A) *{uqt
(B) iiFl

(c) ftg
(D) rrfrork

48) ftqilidii{Elr*mntl
(A) a.a.

(B) iEBl

(C) qcrsnr{

(D) sctft(S

49], srtalglqriRfl iikislEtd{tdlta
(A) ommF6

(B) Rqtdd

(C) wr{6
(D) ftFR

50) gq-d<rxrqanriencqHqnlqrdltl

(A) EcI{
(B) 3r6dR

(q tarc
(D) Erq{

51) 6cltT4*ki qr.rqrqatr

(A) 5llRYrd

(B) 61!R{la

(c) 7l!ft{a
(D) 8trRfla

L

t28I
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47\ Which of the following is a non-renewable

resource?

(A) SolarenergY

(B) Water

(C) Soil

(D) Natural gas

48) Which of the following are forms of media?

(A) rv.
(B) Radio

(C) Newspaper

(D) All of these

49) Who sells his goods abroad?

(A) Importer

(B) Exporter

(C) Manufacturers

(D) Merchant

50) The founder ofMughal dynasty was?

(A) Hurnayun

(B) Akbar

(C) Shershah

(D) Babur

NS-19002

51) The area covered by water on the earth is?

(A) 5lVo

(B) 6tVa

(C) '77Vo

(D) 81Vo



r

52; gffi*dErrcvflii ({dqc) 6rRtutu-66
sR sflca{rq{sqftrBetqqr.
(A) t962
(B) te77
(c) 1999
(D) 2004

53) fu rfr *a-ac{ Fd{rErEq (yqrrRrql, angr, enrorfftuti
(A) {rnr{
(B) d-dgrrfr
(c) ErdTfrp; a5ar+fr

54) rumiftmnqtQnikr$t?
(A) trd
(B) qrG

(C) slild
(D) *q

55)'rfu rilft<" ff rscrfiicifi *?
(A) ri{{<r$
(B) qck
(C) @q

. 1p) m$

50 1857 8lftfr6........... tvrirrEent
(A) Hq{s
(B) 6riCr
(C) 3{.rtr

(D) trd

S7) qnaiisurrqqraqrcnr

E3tr errl

(A)' gq{'a

(B) qq$

(C) lrSr€

(D) qkqcdrrd

{Pnft-d

NS-19002 t2eI P.T.O.
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52) Electronic Voting Machines @VMs) were

used throughout the country for the first time
in the general elections held in
(A) 1962
(B) 1977
(c) t9e9
(D) 2004

53) On which river banks are, Allahabad
(Prayagraj), Kanpur, Varanasi located?
(A) RiverGanga
(B) RiverBrahmapura
(C) River Hooghly
(D) Rivayamuna

54) How many countries touch Sahara desert?
(A) Ihirteen
(B) Eleven

(C) Sixreen

(D) Twenry

55) Who was the writerof ,'Geet Govind,'?
(A) Chandbardai
(B) Jaidev

(C) Kalh{r
(D) Bhavbhfi

56) The revolt of 1857 began from _(A) Lucknow
(B) Kanpur
(C) Awadh
(D) Meerut

57) The fint cotton mill in India was established in

(A)

@)
(c)
(D)

Gujarat

Bombay

Madras

WestBengal



5E) A5o Utsh-fr Rfr frczralwS<t stw6

dH+ftrqssmmscgfrtl
(A) lr6tsd{r (B) FdftI

(q aq6IER 1o; uPn*t

60) sqcEs(Ml-n)qrwtsqantr
(A) ts{3ftFfiarelnd
(B) ilErstoeFrri?ssrffi
(C) frHE( 3rfu dstslfE"IstqftA

P1 s{td*rfr

61) "sffiqqqrrs'ftq(Fs"kfr rlmqrilt?
(A)

(B)

(c)
(D)

l0or€I
l0fuis{
10Qd{r

10il{st

64 iEqarqmq*qrqnftrfrfifrEk*awatz
(A) qmclrYffi
(B) qnaqrgrn+i{

(q rrqalTwdr
(D) 5q{*

63) c{
(A)

(c)
1800

t827

ilqifrclllc{ffidqaIIlt
(B) 1831

(D) 1829

64) Eihcrrd+san'rqft-E{tai -
(A) arf,IarqErdlrc

(B) *edra+te
(O fi.rwM
fol rt(qR{fficql$QB

(

NS-19002 t30l
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58) Which one of the following methods is most

appropriate to check soil erosion on steep

slopes?

(A) Shelterbelts (B) Mtldting

(C) Teracecrntivation @) RockDam

59) Which one of the following is a leading

producer of coPPer in the world?

(A) Bolivia (B) Ghana

(C) Chilc (D) Zimbabwe

60) WhatisthefirllformofMLA?
(A) Memberof Law AuttroritY

(B) Memberof kgislative Assembly

(C) Minister of l:w Abiding Authority

(D) None of these

61) Which day is celebrated as "Intemational

IfurrmRiglrtsDaY"?

(A) lOu October

(B) 106 SePtember

(C) 106 December

(D) l@January

62) Who appoints the judges of the High Courr?

(A) The Prcsident of India

(B) The Prime Mnister of India

(C) The Govemor of State

(D) The Chief Minister

(A) 1800
(c) 182'7

(B)
(D)

1831

1829

G) Free India s frst Indian Govemor4eneral was

(A) LalaLajPatRai
(B) Motilal Nehnr

(C) C. RajagoPalachari

(D) Sardar Vallabhbhai Patel

59) ffifua{*daftvaidiqr eilEft Tfl<otl
(A) *dEqI (B) qEr

(q tuA (D) GIEA

63) The practice of Sati was banned in the year



65) Rihcrrd+sqcacqqnd*+{ e}7

(A) +A-d'd+ds

(B) si.Scrrari+s*,{

(C) srqnsdsqr$ctd

(D) +dnr3nqq

0C1 sur+gReraeif-
(A) q-cleq&rqldsrrrr

(B) 3rRcER

(C) t(sqnr
(D) vq63ln*

67) ftq{td"-mngft-*tvntr
(A) arq-dii (B) Sc
(C) GFir6 @) tql"

68) qii@r*fr€rd t qRd6r Erdtdi_sr rrrntr

69) \'s 3n$ om G'IR)* snqHrETSitl
(A) wr{ciqRty'cft+J
(B) gs imnivnftrtC
(C) xte iqrAuift+e
@) u.C iqrtifliftt

(B) Rs{r

(D) qd-dr

a-+*wtE-€T*ftqfrHr
?r

(A)

(c)

{rkcll

q?ql

70) 6rmdBun
*e&-qn6rni.4urcr

(A) 6 - 14q{

(B) 6 - l2s{
(C) 5 - 10q{

(D) s - 12s{

NS-19002 [81] P.T.O.
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65) Who was the first Deputy prime Minister of

the Independent India?

(A) Motilal Nehru

(B) Dr. Bhim Rao Ambedkar
(C) Sardar Vallabhbhai patel

(D) Maulana Azad

66) Horticulture means -

(A) Growing of fruits and vegetables

(B) Primitive farming

(C) Growing of wheat

(D) Growing of Rice

67) Which one of the following is a natural fibre?
(A) Nylon (B) Jure

(C) Acrylic (D) Rayon

68) According to population, what is the India,s
rank in the world?

(A) 7th

(C) 5'h

69) What do you mean by FIR?

(A) Flight Information Report

(B) Food Information Report

(C) Fraud Information Report

(D) First Information Repoft

70) Our constitution guarantees the Right to
Education for all children between the ages of

(A)

(B)

(c)

(D)

6 - 14 years

6 - 12 yeal,:s

5 - l0 years

5 - 12 years

(B) 2nd

(D) I't



71) Axuflffid{@le}ernunwatot :

(A) EtvnsFr€6

(B) EnYnxufl-trfi

(c) eFntraqtxqrem

(D) YF

72) qqTt*nq5caftq 10 tfr tl qrgqtqrt et{' 
r**.+.f +ftq,&A#ffi aff qtRs'

a-tqt1 1n = 3.1a)

(A) 62.8*&

(B) 314*fr

(C) 62.8q'ii{
(D) 314q'itff

73) xqrcHnrdffFTit

(A) 20"

(c) 90"

(B)

(D)

600

180"

74) \'6sca-dgca 5mefi atermeffi ftrg*

s-&fiErd*lurq,r crq 45'tt

(A) s

(B) 3

(c) 4

(D) 8

NS-19002 t32l
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71l) Prcduct of two negative numben is

(A) AlwaYs Positive

(B) AlwaYs negative

(C) Either Positive or negative

72)

@) 7.ero

The radius of a circular pipe is 10 cm' What

length of a tape is required to wrap once around

the pipe? (n = 3.14)

(A) 62.8 cm

(B) 314 cm

(C) 62.8 crfi

(D) 314 crfi

73) Find the value ofx.

(A) 2Oo

(c) e0"

(B)

(D)

60'

180'

74) Find the number of sides of a regular polygon

whose each exterior angle has a measure of

45".

(A) s

(B) 3

(c) 4

(D) 8

'IfrTd
MATIIEMATICS



7s) ccl ctl at it6r qrdr t, a-E g+ sq ercrq risr srw
dt&nft-+-nanfr.ft7

(A) V/o

(B) /^

(c) y,

(D) t//2

76) \6cErFksB-*mffftnM\Fri@r 12
tt

(A) t2,24,36 (B) 12,35,37

(c) 12, ls, l8 @) 12,36,37

77) riwl z+z*,u-r*5q(el eimmffffi :

(A)2 @)q
(c)u (D),

78) star i qs grralNa 2,566.. { q0-<r ss}
500 s. sF& qsa .R qd ftS ofr{ :,300 s. {
ie Gqrt sstrl Erc lRrn m ffftq :

(A) 50vo @) 2ovo

(C) l0vo (D) 3OVo

NS-19002 tsel P.T,O.
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75) A dice is thrown. What is the probability of

getting an even prime number?

(A)

G)

(c)

@)

76) Write a pythagorean triplet whose one
member is 12.

(A) 12,24,36 (B) 12,3s,37

(c) 12,ls,18 (D) 12,36,37

77) The one's digit of the cube of the nu m&r 242

%

Y-

%

%

1S

(A) 2

(c) 6

(B) 4

(D) 8

78) Sohan bought a second hand refrigerator for
t?,100, tlrn spent t500 on its repairs and
sold it for t3,300. Find his gain percent.

(A) 50Vo (B) 20Vo

(C) l0Vo (D) 3O/o



79) qGfra dd&{@I 24'r, 9 f ftqst' dx+t
cre€rt?

(A) e

(B) 3

(c) 6

(D) F{t6}Edfi

80) An $ u-{ n ur{guttrsqs ln ffFri - 8db1 cx'

t2.dbcdR20a1b4

(A) db4

(B) a2b2

(C) 4a2b2

@) 4a2b

81) x'?- 2yx + Y2an 
qs flra fiRri <qft x = 1'

Y=2i:
(A) 1 @) -1
(c) 2 @) -2

82) ffifoa{tqtrqrr'*qqqger+t :

(A) qam

(B) Bgsr*Rft.n

(C) sq

1D) qrt 3{Emaral&-q

83) Irc sq-{ddg 6I tdqd 240 cm:t, 3ft Glfiuil t
t*&fr l6cmta-qRiM&dargst
ilr:
(A)

(c)

16 cm

30 cm

32cm

8cm

NS-19002
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79) If the three digit number 24-r is divisible by

9, what is the value of -r?

(A) e

(B) 3

(c) 6

(D) None of these

S0) Find the common factors of Sazba?'l2dbC'

atd20a1ba is :

(A) aaba

(B) a2b2

(C) 4a2b2

@) 4a'zb

81) The value ofxz - 2yx+ y2 wher.x= l'y =2'

(A) 1 (B) -1

(c) 2

S2) Which of the following is aregularPolyhedron:

(A) Cuboid

(B) Triangular Prism

(C) Cube

(D) Square Prism

83) The area of a rhombus is 240 cnr? and one of

the diagonals is 16 cm. Find the other diagonal'

(A) 16cm (B) 32cm

(C) 30 cm (D) 8 cm

(D). -2



84) qR ls erh-6fuft {-cRE} 48 ta{ftfifdq{s.d
t dEeqr+A 30 ti}{Xrcl}*tu+, tutqHSs{rqsanAfit

(A) 15

(B) 30

(c) 20

(D) 24

8s) [f -zl']-' x Jo qlssfrrn 
3

(A)

(B)

I

1024

I(c)
t024

-1024

86)

(D)

nqr + frar e orrg nga ff sngeft gri 5 q{
qfu{ tr rrga * ftdr ff sng ++ q{ 

Br m rea ff
argffiffF<qr

(A) 26 (B) 3e

(c) 13 (D) 3l

87) x + y + zancn nrd ffFrit

(A)

(c)

1900

1500

360.

2700

NS-19002
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84) If 15 workers can build a wall in 4g hours,

how many workers will be required to do
the same work in 30 hours?

(A) ls
(B) 30

(c) 20

@) 24

8s) Find the value of [{-Z)r]-' , So =

(A)

(B)

I

1024

I(c)
t024

-1024(D)

86) Rahul's father's age is 5 years more than thrce
tirnes Rahul,s age. Find Rahul's age, if his fafier
is 44 year old.

(A) 26 (B) 3e
(c) 13 (D) 31

87) Find rhe value of x+y+z

(A) 190.

(c) lso'

(B) 360"

(D) 270"



88) -xy + 4f - 2* + 6xY - 2x3 + 4l d,tvraad
qrffqiltmtm:

(L) st -?-i+bY

(B) 4f +Sry-2i

(C) 2.1 +2.*+ 5ry

(o) Fftd*dfil

39) efrqfi{ (Euler's)rtrt :

M:1

8S) On simplifying-r1 + 4f -2i + 6ry -2'l + 4*
we get

(A) 5x3 - 2x2 + 2xY

(B) 4x3 + 5ry - 2x2

(C) 2l +?x2+ Sry

@) None of these

E9) Euler's formula states :

(A) E+V-F=2

(B) E+F-V=2

(C) F+V-E=2

(D) E+F+V=2

(A)

(B)

(c)

(D)

E+V-F=2

E+F-V=2

F+V-E=2

E+F+V=2

90) q65rqr{61 aErd Tiq t rz0 tr uQEur++Fi

ioElrtA * *gnt t m srar km 5a tn 6Ri I

(A) t108

(c) t120

(B) <e0

(D) t1o0

90)

3t3t3t

(A) t108

(c) t120

(B) teo

(D) tloo

The cost of a flower vase is t120' If the

shopkeeper sells it at a loss of 107o' find the

price at which it is sold.

NS-19002 t36l



rl{fu'-6 rla-dr
g{l ,5 F.iI{ Fmr

l 46
2 C 4'7 B

B 48

4 D 49
5 50 C
6 B 5l B

7 D 52

8 5l D
9 C C
l0 u 55

56 C
l2 57 D
tl D 58

t4 B 59 C
l5 60 D
l6 6l
t1 B 62

D 63 D
l9 C 64 B
20 65

2t C 66 C
22 C 61

23 B B
24 69

25 D 10 D
26 71 C
21 D 72 B

B '73

29 C 74 D

t0 D 15 C
il 76 D
32 D '17 B

C 78

i4 B C

80 B
36 C 8l D
37 B 82

i8
39

D 83

C 84 D
40 85

4l D 86 B
42 87

4) B 88 C
44 D 89 B
45 90 D

fi-snr
c{l6 sfttt

I B

2

3 C

4 B

5 C

6

1 B

8

9 B

ll D

l2
B

t4
l5
r6 B

t1 B

t8 D

t9
20 C

22 D

23

24 D

25 C

21 B

B

29 B

30

3I C

D
33

l4 B

35

qlqrfuo lfflrq
qYl 

'5
B<r{

36 D

31 B

l8 D

39 C

40 D

4l C

4? B

4i

45 D

46 B

47 D

48 D

49 B

s0 D

5l C

52. D

53

54 B

55 B

56 D

51

58 C

59 C

60 B

61

63 D

64 C

65 C

66

67 B

68 B

69 D

70

r-rFrd

s(R
'7t

1?

73 B
14 D
?5

16 B
11 D
78 C
19 B
80 D

8t

C

83 C

84 D
85 C

C

88 C

C

90

"* ,,,

v-X

IItl 6.

D

C

54

B
ll

C

C C

l8

68

B

79

i5

C

D

C

rtt{lq'fr{ oq tR-e {q-{ qtffi 2o1s-2e
q{lm ft+io, 03 / 11 /201s (vo< f"fr)

D

r0

l3

2t

26

B

32

B

44

B

C

62

IITI F,

86

B

89


